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Overview
• What is a DAG
• Two classic uses:
• Identifying confounders (to be controlled for)
• Identifying colliders (NOT to be controlled for)

• Application 1:
RCTs and the concept of instrumental variables

• Application 2:
Negative control outcome
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What is a DAG
• Directed ‐> one variable is a cause of other variables
‐means that there is a causality and hence a time 
aspect

• Acyclic ‐> no closed loops
‐ a cause can never be an effect of itself

• Graph ‐> in the mathematical sense of points and 
vertices
‐ we can talk about groups, about ancestors and 
descendants, separation sets, moralizing a graph, etc.
See https://en.wikipedia.org/wiki/Graph_theory
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Example of DAG
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Definition of confounding?
• Classic definitions

• Modern definition:
Confounding is absence of exchangeability

• Exchangeability is defined via counter‐factuals:
Exposed group would have had same outcome as 
control group had they not been exposed
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Example of DAG – and exercises
• Identify all variables which are confounders for the 
ED effect

• Identify all variables which are not confounders for the 
ED effect

• Identify minimum sets to control for confounding
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Example of DAG
• Identify all variables which are confounders for the 
ED effect

• Identify all variables which are not confounders for the 
ED effect

• Identify all minimum sets to control for confounding
• Why is L not a 
confounder?
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Two useful criteria
• The backdoor criteria:
close all open backdoor paths to control for 
confounding

• Avoid collider bias:
do not control for a collider or variables in their path 
(from exposure to outcome)
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IV analysis – an example
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Patient 
characteristics

Observed: sex, 
age, diagnoses, 
etc

Unobserved:
smoking, aspirin 
use, BMI, etc

GP preference

COX‐2 vs 
NSAID

GP age, sex, 
education, 

experience, etc

Regression 1:
𝑋 ൌ 𝛼଴ ൅ 𝛼ଵ𝑍 ൅ 𝑢

𝑍

𝑋 𝑌
Regression 2:
Yൌ 𝛽଴ ൅ 𝛽ଵ𝑍 ൅ 𝜀

If 𝑍,𝑋 and 𝑌 are all binary, 
then the IV estimator of 
the risk difference 
associated with treatment 
is: 

𝑅𝐷ூ௏ ൌ
𝛽ଵ
𝛼ଵ



Small example of IV estimation
• Table 3, p272 – Brookhart (2006)

• 𝑅𝐷ூ௏ ൌ
ఉభ
ఈభ

where

• 𝛽ଵ ൌ െ0.21
• 𝛼ଵ ൌ 0.77 െ 0.55 ൌ 0.22

• Thus: 𝑅𝐷ூ௏ ൌ െ ଴.ଶଵ
଴.ଶଶ

ൌ െ0.95

• Reported estimate in Table 4: െ0.92 ሺെ1.74; െ0.10ሻ
• NB: 𝑅𝐷ூ௏ ൌ

ఉభ
ఈభ

is the same as formula (1) in paper:
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Example 2: understanding negative control 
exposures
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FYI
• http://bayes.cs.ucla.edu/WHY/



Time for discussion!

(Djursland, July 2015 – H Støvring)
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